EARAROBEEIERT — 2 N— IBISH —F

20155 7H250 (£) 6EEH4H

WPl FILL—X C1 45F%—f EREE R
[AE4£] 1% :140,000 ™ ~ 23#%:35,000M” ~ 33%&:18,000 M . 43&:10,000 M 53 :7,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 6| FITEILELZ #o7 | BIE 1:(3_1).7 2-2-2-1 [40.4| — | 1 | 477 i%ég%%ﬂ)
R:TENTSY BT EF N 5 | s
= o . RFEED :32. —5-3~ . = NBEE (FH)
olsls|A—23vamy> 4 8 g 1(332)4 5-5-3-2 | 40.8 4 (4_614) e
L:TTRZXTIA N BT RIN=T)L EA45
3,5 4t 4 | EEFF 1:32.9 6-6-6-3 | 40.9| — 2 478 | BiBXE (BF)
311 | Tk 56.0 21/2) (+4) *’;%#D‘Hj
L2947 bHLEN BIIT7RLAR Sl R
- o EREE : -3-3- - =)
477 F7v bISLR f 7 | SR (599 3-3-3-4 | 42.1 5 <4+134) zggﬂé (&%)
RiANRTNGR B:TIRIIIL FAF04SS
A 44 | EAILRE 1:34.1 4-3-5-6 |42.5| — 6 415 | BEXE ()
5 4 =<7 — A51.0 (2 1/2) +1) :HC%%—EK
ANXZTNGT BRI TIY— DNEFHS
6 | EILZNTE YL o7 gi;flsﬂéﬁﬂ 1:(351).7 1-1-1-5 | 43.5| — 3 511 E;ﬁé?ﬁ (=)
R:vYy 34X B:aza-> #3) Fif Fk
—as . REE—B — - — — — —  |ITHER (FH)
s Bl 3| TP EINRIS=Y "4 R (Re51) (o) | BHEER (
RTIRRAFIEN BTATLTUYY i EE
® I —F—EBIERL
13=7r= 2,6,7,4,5,1
2ol=7r= 2,6,(4,7),5,1
Jol=5r= 2,6,(5,7),4,1
40—+ — 6,5,1,7,2,4
[ N3
BB 6 190 714K 5-6 170H B = 5-6 450 3EHE 1-5-6 450M
8 B 6 110 1-6 180M B H 6-5 560M K31 6-5-1 1,700M
5 1704 1-5 370M

ABICOVWTRDTEEERROODE. TR LIV,




